

Kansas Corporation Commission Oil & Gas Conservation Division

1045732

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R East West
Address 2:	Feet from North / South Line of Section
City: State: Zip: +	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
☐ New Well ☐ Re-Entry ☐ Workover	Total Depth: Plug Back Total Depth:
□ Oil □ WSW □ SWD □ SIOW	Amount of Surface Pipe Set and Cemented at: Feet
☐ Gas ☐ D&A ☐ ENHR ☐ SIGW	Multiple Stage Cementing Collar Used?
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set: Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to:w/sx cmt.
If Workover/Re-entry: Old Well Info as follows:	
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: ppm Fluid volume: bbls
☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☐ Conv. to SWD ☐ Conv. to GSW	Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	Quarter Sec TwpS. R
☐ ENHR Permit #: ☐ GSW Permit #:	County: Permit #:
Spud Date or Recompletion Date Date Reached TD Completion Date or Recompletion Date	
of side two of this form will be held confidential for a period of 12 months if rec	onversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information puested in writing and submitted with the form (see rule 82-3-107 for confidential report shall be attached with this form. ALL CEMENTING TICKETS MUST

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY						
Letter of Confidentiality Received						
Date:						
Confidential Release Date:						
Wireline Log Received						
Geologist Report Received						
UIC Distribution						
ALT I I II Approved by: Date:						

Side Two



Operator Name:			Lease Name	e:			_ Well #:	
Sec Twp	S. R	East West	County:					
time tool open and clos	sed, flowing and shut s if gas to surface tes	I base of formations per in pressures, whether set, along with final chart well site report.	shut-in pressure	reached s	static level,	hydrostatic press	sures, bottom h	ole temperature, fl
Orill Stem Tests Taken (Attach Additional S		Yes No		Log	Formatio	n (Top), Depth an	d Datum	Sample
Samples Sent to Geolo		☐ Yes ☐ No	N	Name		Тор		Datum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)	I Electronically	Yes No Yes No Yes No						
List All E. Logs Run:			RECORD [Used			
	Size Hole	Report all strings set- Size Casing	-conductor, surface Weight		ate, producti Setting	on, etc. Type of	# Sacks	Type and Percen
Purpose of String	Drilled	Set (In O.D.)	Lbs. / Ft.		Depth	Cement	Used	Additives
		ADDITIONA	L OFMENTING (00115575	DECORD			
		ADDITIONA	L CEMENTING / :	SQUEEZE	RECORD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	tect Casing g Back TD		# Sacks Used Type a		Type and F	Percent Additives		
Shots Per Foot	PERFORATION RECORD - Bridge Plugs Specify Footage of Each Interval Perf				Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used)			d Depth
TUBING RECORD:	Size:	Set At:	Packer At:	Line	r Run:	Yes No		
Date of First, Resumed I	Production, SWD or ENI	HR. Producing Me	thod:	Gas Li	ift C	Other (Explain)		
Estimated Production Per 24 Hours	Oil E	Bbls. Gas	Mcf	Water	В	bls. (Gas-Oil Ratio	Gravity
DISPOSITIO	Used on Lease	Open Hole	METHOD OF COM Perf. D	MPLETION: ually Comp omit ACO-5)	. Cor	nmingled mit ACO-4)	PRODUCTIO	ON INTERVAL:
(If vented, Sub	mit ACO-18.)	Other (Specify) _						



PO BOX 31 Russell, KS 67665

INVOICE

Invoice Number: 121793

Invoice Date: Mar 1, 2010

Page: 1

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Bach Oil Production R. R. #I Box 28 Phillipsburg, KS 67661 Federal Tax I.D.#: 20-5975804

CustomerID	Well Name# or Customer P.O.	Payment Terms Net 30 Days		
Bach	Huffstutter #5			
Job Location	Camp Location	Service Date	Due Date	
KS2-06	Russell	Mar 1, 2010	3/31/10	

			Wai 1, 2010	3/3/1/10	
Quantity	Item	Description	Unit Price	Amount	
90.00	MAT	Class A Common	13.50	1,215.00	
60.00		Pozmix	7.55	453.00	
	MAT	Gel	20.25	101.2	
64.00		CD-31	9.10	582.40	
150.00		Handling	2.25	337.50	
60.00		Mileage 150 sx @.10 per sk per mi	15.00	900.00	
	SER	Liner	991.00	991.00	
60.00		Pump Truck Mileage	7.00	420.00	
1.00	EQP	Rubber Plug	25.00	25.0	
~~~		Subtotal		5.025	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE Mar 26, 2010 
 Subtotal
 5,025.15

 Sales Tax
 291.46

 Total Invoice Amount
 5,316.61

 Payment/Credit Applied
 5,316.61

 TOTAL
 5,316.61

# ALLIED CEMENTING CO., LLC. 33824 Federal Tax I.D.# 20-5975804

O P.O. BOX 31 RUSSELL, KANSA	AS 67665		SERVICE POINT:			
SEC. TY	WP. RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH	
E 3-1-10 32 1	5 18			4.00 pm.	4,30pm	
offstotter Well#5	LOCATION	Phillips burg 1 To	Il water Di	Philips	STATE /	
OLD OR NEW (Circle one)	3F 1	V YAF NINTO	HON ICE NO	Pullips	1/2	
		V ME VINIO				
CONTRACTOR Co Tools	\$	OWNER				
TYPE OF JOB ZINCZ						
HOLE SIZE 3/2/4/2	T.D. 3350	CEMENT				
CASING SIZE 3/2	DEPTH 3350	AMOUNT OR	RDERED 150	0 6/40 49/	601	
TUBING SIZE	DEPTH	Liquid D	RDERED150	B/2 1.60	3/	
ORILL PIPE	DEPTH					
TOOL	DEPTH					
PRES. MAX	MINIMUM	COMMON_	90	@ /3.50	1215,0	
MEAS. LINE	SHOE JOINT	POZMIX	60	@ 2,55	453,00	
CEMENT LEFT IN CSG.		GEL	5	@ 20,21	101.25	
PERFS.		CHLORIDE		@		
DISPLACEMENT 30.6	RC	ASC		@		
EOUIP		CD-31	64	@ 9,10	582,40	
EQUIP	VIENI			@	20-171	
	0	-			1	
PUMP TRUCK CEMENTER	Craig				-	
398 HELPER C	lenn			@		
BULK TRUCK	•			_ @		
BULK TRUCK	lluin					
BULK TRUCK				_@		
DRIVER		HANDLING_	100	_@ @ ~. 25	337,5	
		MILEACE	10/5kfaile	_ (004 , 20 )	900,0	
DEMA	nize	MILEAGE	" - high		-	
REMA				TOTAL	3589,11	
3/2 Unerset@ 33	50					
Loud hole & BST Crevlation	n My 1505K	Cement	SERVI	CE		
+ D. Splace CEMENT C.	colated!					
of	1.2	DEPTH OF JO	)B			
Float Did Not t	HON.	PUMP TRUCI	K CHARGE		991,00	
Plustanded 1400ps;	Shut in @ kou	EXTRA FOOT		@		
		MILEAGE	60	@ 7,00	420,00	
		—— MANIFOLD		@		
	Thom	VIS,		@	10-	
	1.1-111	and the second of		@	×2	
CHARGE TO: Boch	2.1				-	
TIANGE TO. DECK C	21.1			144 124	1011	
STREET				TOTAL	14/1,00	
CITYSTATE	EZIP		PLUG & FLOAT EQUIPMENT			
		31/2 Rus	ber Plus	@	25,00	
		- CIZ NO	- 7.3	_ @ 		
Co Alliad Comparting Co. 117		-		@	-	
Fo Allied Cementing Co., LLC You are hereby requested to re				@	-	
You are hereby requested to re	nt cementing equip	ment -		@	-	